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2 1,100,000 1,100,000 0
= 1,700,000 0 1,700,000
Al 2,134,853 2,125,000 9,853
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=} 2,383,636 2,237,636 146,000
OlMGtD S T 2EH X4 7,724,059 5,868,706 1,855,353
2 1,100,000 1,100,000 0
= 1,700,000 0 1,700,000
Al 2,134,853 2,125,000 9,853
=] 500,000 500,000 0
2 2,289,206 2,143,706 145,500
AEMNHAR 584 M 93,831 88,478 5,353
Al 9,853 0 9,853
2 83,978 88,478 24,500
ANSK B4 L JET ALY HAH 17,722 22,292 A 4,500
201 LBt 3,022 7,522 24,500
01 AL 22| H 2,720 7,220 A 4,500
O BEZTAY ALSA OA 2,120 3,620 A 1,500
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01 AL 22| H 4,013 0 4,013
O St4+Z A2 2 4,013,000 4,013 0 4,013
Al 4,013 0 4,013
405 KHaHE S| 5,840 0 5,840
Al 5,840 0 5,840
01 IHAtY 2 E FH SH 5,840 0 5,840
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401 A& HIZ 201 I 500,000 0 500,000
= 500,000 0 500,000
01 A& HI 500,000 0 500,000
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= 500,000 0 500,000
R8s 2L 1,231,339 531,339 700,000
s 700,000 0 700,000
- 531,339 531,339 0
401 AIEHI L 20 1,231,339 531,339 700,000
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Al 2,125,000 2,125,000 0
- 1,450,000 1,300,000 150,000
St=2t1 i - EAY 220,000 70,000 160,000
Al 70,000 70,000 0
T 150,000 0 150,000
401 AIEHI L 201 220,000 70,000 160,000
Al 70,000 70,000 0
- 150,000 0 150,000
01 A& HI 220,000 70,000 150,000
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Al 70,000 70,000 0
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